Sections 11.7–11.8  Even Answers Mostly
Section 11.7 Class Exercises

*Wait a second! The geometric derivations of tangent lines are interesting, but we don’t want our students memorizing too many formulas (or even looking them up!).

**These problems serve as good exercises for calculus students who need the practice at implicit differentiation! So… I’m not even going to bother writing out the answers to most of these. If you see a solution or answer here, it’s because I thought it might be interesting for me (and possibly the student!).

1. Implicit Differentiation: 
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    A good calculus problem!

***The normal line is 
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 to the tangent line. This is a good vocabulary term that you’ll see again in calculus.

Section 11.7 Practice Exercises
****Memorize and learn to use the point-slope form of a line: 
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*****And we all remember that the slope of a 
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 to a line is the negative-reciprocal…

          ex/ If 
[image: image5.wmf]12

^

ll

 and m1 = -2, then m2 = ½ 

******Another item that might be good for students to see is the use of ‘xo’ vs just ‘x’.

So y – y​o = m(x – xo) can make sense? (x,y) is a general point but (xo ,yo) is specific.

*******The optical (reflective) properties of the hyperbola and ellipse (discussed at the beginning of the section) are interesting. A laser beam through one focal point of an ellipse (or hyperbola) reflects through the other focal point.

Did you see the ‘R’ review problem #33. What’s the probability of getting 2H and 3T in 5 tosses of a coin??? Easy problem if you know about Pascal’s Triangle, but the point is…

that’s an ‘off-the-wall’ problem!

Review problem #37 (okay, we(you) need the log practice for calculus!)
Exponentiate both sides of the equation… wait! first use Log Law #1 to combine the sum 

of the two logs on the left side of the equation: 
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Now if we’re good at factoring…
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, so 
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Challenge 11.7

1. 11.906 cm

2. (a) 90o, 270o, and coterminal angles   (b) I, III   (c) II, IV

3. 
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Section 11.8 Class Exercises

*Okay, this is sort of a ‘bonus’ section too. However, it’s easy and polar graphs (if not polar equations of conic sections, per se) are on the AP Calculus Test (BC), so an Honors Precalculus class ought to take a look at this section. 

**It turns out that Kepler’s Laws of Planetary Motion can be proved with some knowledge of the polar form for conic sections!
***Perhaps there’s some benefit to at least practicing with the graphing calculator?

1. ellipse   2. ellipse   3. parabola   4. hyperbola   
5. parabola, V
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 6. ellpse, V1
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7. hyperbola, V1
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  8. parabola, V
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9. 
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Section 11.8 Practice Exercises

2. ellipse   4. ellipse   6. hyperbola   8. circle   10. parabola   12. ellipse   
14. parabola: 
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   16. ellipse: 
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  18. hyperbola: 
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22. 
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31. 1,-2,3   32. 
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   34. 1064 mi   36. For circles, e = 0, then r = 0 which is a point!
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42. Cross-multiply, transform to get: y2 = a(a – 2x)  
43. Same method as #42
44. 
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Test Yourself – Chapter 11
2. 
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   4. hyperbola  6. (1,3), (-2,-6), (-4,-2), (1/2,1/4)
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Summary and Review – Chapter 11

2. C(3, -5/2), R = 5/2   4. 
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8. V(10,-6), F
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, directrix: x = 
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 10. hyperbola: 
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12. hyper, parabola: 
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 14. ellipse, t: 2x + 5y = 9, n: 5x – 2y = 8  16. 
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Test – Chapter 11

1. C(5,0), R = 1      2. 
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4. 
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5. (y – 6)2 = 8(x – 2)  6. 
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  7. 
[image: image60.wmf](

)

2

2

'

(')

164

1

x

y

+=
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8. hyperbola  9. ellipse, parabola: 
[image: image61.wmf](

)

30

7

33

,

±

  10. hyperbola, t: 9x+8y=11, n: 8x – 9y = 42

11. hyperbola: V1(2,0), V2
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Cumulative Review 

1. E   2. C   3. A   4. A   5. E   67. C   7. D   8. A   9. A   10. C   11. A   12. B   

13. C   14. B   15. A
8. circle, t: 7x – y = 50,  n:  x + 7y = 0


10. hyperbola: V�1� EMBED Equation.DSMT4  ���,V2� EMBED Equation.DSMT4  ��� 


12. � EMBED Equation.DSMT4  ���





10.�
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